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SAMPLE PAPER (TERM-1) 
Subject: English                                                                                         Grade: VIII 
Session: 2019-20                                                                        Maximum Marks: 80 
 
General Instructions:  

● Attempt all questions. 
● Do not copy the questions in the answer sheet. 
● Attempt all questions of a particular section together. 
● Put correct numbering against each answer as given in the question paper. 
● Do not write anything on the question paper. 
● Do your work neatly and in a presentable manner. 
● All the best ! 

 
 

SECTION:A   (Reading) (20 Marks) 
 

1. Read the following passage carefully: (10) 
 
Papaya is the healthiest fruit with a list of properties that is long and exhaustive. Papaya                
favours digestion as well as cures skin irritation and sun burns. You can munch on it as a                  
salad, have it cooked or boiled or just drink it up as milkshake or juice. The most important of                   
these virtues is the protein-digesting enzyme in the milky juice or latex. The enzyme is similar                
to pepsin in its digestive action and is said to be so powerful that it can digest 200 times its                    
own weight in protein. It assists the body in assimilating the maximum nutritional value from               
food to provide energy and body- building materials. 
Papain in raw papaya makes up for the deficiency of gastric juice and fights excess of                
unhealthy mucus in the stomach, dyspepsia and intestinal irritation. The ripe fruit, if eaten              
regularly corrects habitual constipation, bleeding piles and chronic diarrhea. The juice of the             
papaya seeds also assists in the above-mentioned ailments. 
The juice, used as a cosmetic, removes freckles or brown spots due to exposure to sunlight                
and makes the skin smooth and delicate. A paste of papaya seeds is applied in skin diseases                 
like those caused by ringworm. The black seeds of the papaya are highly beneficial in the                
treatment of cirrhosis of the liver caused by alcoholism, malnutrition, etc.  
 
1.1 Answer the following questions: 
(a)​What is one of the most important virtues of pepsin? (1) 

(b)​How can intestinal irritation be overcome? (1)  

(c)​How is paste of papaya useful? (1) 

 ​(d)​What does ‘The juice can be used as a cosmetic' mean? (1) 

(e) ​How can we say that papaya is a versatile fruit? (1) 

(f)​ How are black seeds of papaya beneficial? (1) 

(g)​ How can papaya help if eaten regularly? (1) 

(h) ​Give a suitable title to the passage. (1) 

1.2 Find synonyms of the following words from the passage:​ (1) 

(a)  Tiring: 



(b)  Problems: 

1.3 Find antonyms of the following words from the passage:​ (1) 

     ​ (a)​ Lack of something: 
      (b)​ Useless/not of any use: 

 
2. Read the following poem carefully and fill in the blanks appropriately: (5) 
 

The Song of the Shirt 
 

With fingers weary and worn, 
With eyelids heavy and red, 

A woman sat, in unwomanly rags, 
Plying her needle and thread- 

Stitch! Stitch! Stitch! 
In poverty, hunger, and dirt, 

And still with a voice of dolorous pitch 
She sang the “Song of the Shirt.” 

 
“Work! Work! Work! 

While the cock is crowing aloof! 
And work-work-work, 

Till the stars shine through the roof! 
It’s Oh! To be a slave 

Along with the barbarous Turk, 
Where woman has never a soul to save, 

If this is Christian work! 
 

“Work-work-work 
Till the brain begins to swim; 

Work-work-work. 
                          ​  ​-Thomas Hood 

 
In the poem, the woman is working with her ​(a) ​____________ and thread. Her fingers seem                

to be weary and ​(b) ___________ and her eyelids are heavy and red. She is continuously                

(c)​___________ and singing the ‘Song of the Shirt!’ She works the whole ​(d) ___________              

while the stars shine in the sky. She has to keep working as she is a ​(e) __________ along                   

with the barbarous Turk. 

 
3. Read the following passage carefully and answer the questions: (5) 
 
Dry fruits are useful in various diseases of the brain, muscles and tissues. Particularly              

almond has got unique properties to remove brain weakness and strengthen it. Almond             

preserves the vitality of the brain, strengthens the muscles, destroys diseases originating            



from nervous and bilious disorders. Walnut is another dry fruit that possesses wonderful             

qualities of curing brain weakness. According to Dr. Johnson, almonds, figs, grapes, dates,             

apples and oranges are rich-in phosphoric element and should normally be used by brain              

workers. Phosphorus nourishes the vital tissues of the body. It keeps the mind full of               

enthusiasm for more work. 

a)​ How are dry fruits useful?(1) 

b)​ Mention one property of almond. (1) 

c)​ Where is Phosphoric element profusely found? (1) 

d)​ Name the dry fruit that helps in curing brain weakness apart from almonds. (1) 

e)​ Why should brain workers take fruits rich in phosphoric elements? (1) 

 

SECTION:B   (Writing) (20 Marks) 
4. You are Poonam/Pawan, Head Boy/Girl of Sacred Heart Convent School, Shimla. Your             
school is is organising a ‘Talent Hunt’ competition for all the students of the school. Draft a                 
notice informing students about the same. Include all the relevant details for the same in not                
more than 50 words.                                                                                                       ​     (4) 
 

OR 
 
During the little break you got after your final term exams, your parents took you for a little                  
trip to the hills. Draft an email to your best friend sharing your experience of living in the hills                   
enjoying the serenity and beauty of mother nature. (Word limit: 50 words) 
 
5. ​You are Anita/Anil residing at 13, Versova, Mumbai. Your grandmother lives in another 
city. You are really attached to your grandmother and miss her a lot. You decide to write a 
letter to her sharing how you always think about her bedtime stories, morning walks and the 
delicious food cooked by her.. (Word limit: 100-150 words)                                                ​(8) 
 
6. ​“A compassionate soul fears nothing!” The need of the hour is to practice and preach                
values of virtue, sharing, caring, helping others and making a difference in the lives of               
others. Taking ideas from the unit ‘Compassionate Souls’ of ‘My English Reader’, write an              
article for your school magazine on the topic ​‘Compassion is the Greatest of all Virtues’​,               
in not more than 100-150 words.       
(8) 
 

SECTION:C (Grammar) (15 Marks) 
 
7. ​Look at the notes below. Then use the information to complete the paragraphs that                
follow by writing suitable words and phrases in each space. Do not add any new               
information.                                                                                                                 (½*6=3) 
 



City life — comforts— full of tension — pollution — choking roads — traffic — crowd — no 
leisure people — self centred. 

 
Although ​(a)​ _________ but it is also full of tension. The roads are always ​(b)​ ________ with 

number of’ vehicles that ​(c)​ __________ the environment. All the roads and markets are 

(d) ​_________. People live a busy life and they ​(e)​ _________. Moreover, most people  

(f)​ _________ and do no think about others. 

 
8. ​In the following passage a word has been omitted in each line. Find the omitted                
word and write appropriately:​ ​(½*6=3) 
  
                                                                   Before            Omitted Word           After 
A helpline been opened                     ​ a)​ ________            __________          ________ 

in United Kingdom for people            ​ b) ​________            __________           ________ 

who close encounters with                 ​c) ​________             __________           ________ 

aliens, making it first of its  

kind in the country.                             ​ d)​ _________           _________            ________ 

The phone service offers  

counselling those who                       ​ e) ​_________           __________           ________ 

believe had been abducted.               ​ f)​ __________          __________           ________ 

 

9. Rearrange the following words/phrases to make meaningful sentences:​ ​(3) 

(a)​ is a / tribute/Children’s Day / to/ childhood / celebration 

(b)​  are the world’s / its best hope / most valuable resources / children / and / for the future 

(c) ​have their/own ways/ different countries/ of celebrating/Children’s Day 

10. ​Read the following conversation and complete the paragraph:​ ​(3) 

Anne: I want to order a big pineapple cake for my birthday. 

Confectioner: When is your birthday? 

Anne:: It is tomorrow. 

Confectioner:: You can collect it by noon. 



 

Anne told a confectioner (a)______________ a big birthday cake for her birthday. The             

confectioner asked (b)__________. Anne replied it was the following day. The confectioner            

told her (c)__________ by noon. 

11. ​Do as directed:​ ​(3) 

a) Neither of the sisters __________ present yesterday. ​(Supply a verb in accordance 
with the subject) 

b) You __________ respect your elders. ​(Supply a suitable modal verb) 

c) neha could you please shut the door ​ (Punctuate the sentence) 

 

SECTION: C (Literature) (25 Marks) 

12. Read the extract given below and answer the questions that follow: (4)  

 ​ ​ “And she called for my father and told him undaunted 

  ​  That a house in a tree top was what she now wanted.”   

a) ​Name the poem and the poet of the given extract. (1)  
  

b) ​What is implied by the word ‘undaunted’? (1) 
  
c) ​Why was the poet’s father called? (1) 
 
d) ​Whom does ‘she’ refer to? (1) 
 

OR 

 ​  “My Mother! 

   You come to me like heaven’s caring arms. 

   I remember the war days when life was challenge and toil- 

   Miles to walk, hours before sunrise.” 

a) Name the poem and the poet of the given extract. (1) 

b) Identify the figure of speech  used in the second line. (1)  



c) Why did the poet have to walk so early in the morning? (2)  

13. Read the extract given below and answer the questions that follow: 

“Sure they had a teacher, but it wasn’t a regular teacher. It was a man.” 

a) Identify the speaker of the given extract. (1)  

b) Whom does ‘they’ refer to? (1)  

c) What does ‘regular’ mean here? (1)  

d) Who is the speaker speaking to? (1)  

  

14: Answer any 6 questions in about 30-40 words each:​                   ​(2*6=12)   

a) Why did the hermit not answer the king’s questions immediately? 

b) Describe the county inspector. 

c) What was Swami’s state of mind on his way to school? 

d) What was granny advised by the doctor? How did she feel about it? 

e) Why did the narrator order only a mutton chop for himself? 

f) How did the mother act as a source of inspiration for the poet? 

g) What was the financial condition of the narrator when he first met the lady at the                

Foyot’s? 

15. ​Suppose you’re the king. Record your experience with the bearded man at the Hermit’s               
place in the form of a diary entry.                                                                                        ​  (5) 

                                                                          ​    OR 

You’re Swami. You are greatly upset by the whole day’s events. Write a letter to your friend                 
sharing your feelings about the routine of the day and your intention to apologize to Mr.                
Samuel for your misbehavior.  

 

 

 

 

 

 

 

 



 

ENGLISH MARKING SCHEME 2019-20 

(TERM-I, VIII) 

1 

1.1 a) ​It can digest 200 times its own weight in protein. 

b) ​by consumption of raw papaya 

c) ​applied in skin diseases like those caused by ringworm 

d) ​means it can be used for skin treatment like for freckles or brown spots/make skin 
smooth, delicate 

e) ​it is used to cure multiple ailments 

f) ​treatment of cirrhosis of the liver caused by alcoholism, malnutrition etc. 

g) ​corrects habitual constipation, bleeding piles, chronic diarrhea 

h) ​mark appropriate answer 

1.2 a) ​Exhaustive 

b) ​Ailments 

1.3 a) ​Excess 

b) ​Beneficial 

2. a) ​needle 

b) ​worn 

c) ​stitching/working 

d) ​night 

e) ​slave 

3. a) ​Dry fruits are useful in various diseases of the brain, muscles and tissues. 

b) ​Preserves the vitality of the brain/strengthens the muscles/destroys diseases originating 
from nervous and bilious disorders. 

c) ​Almonds, figs, grapes, dates, apples and oranges are rich-in phosphoric element. 

d) ​Walnut 



e) ​ Phosphorus nourishes the vital tissues of the body. It keeps the mind full of enthusiasm 
for more work. 

4. NOTICE (IN A BOX) 

Format includes :  

Name of the school, Address 

The word NOTICE 

Date 

Suitable heading: 

Content:  

Name and designation of the writer. 

(no marks will be awarded if the content is missing or wrong ) 

Format : 1 

Content :2  

Expression and Accuracy :1 

OR 

EMAIL WRITING 

Format includes : 

From: 

To: 

Date: 

Subject: 

Salutation:  

Content: 

Name of the sender: 

5. Informal Letter: 

Sender’s Address 

Date 



Salutation 

Content 

Subscription 

Content (Format + Content = 4 + Accuracy = 2 + Fluency = 2) 

6. Article Writing:  

Title / Heading 

By line 

Content (Format + Content = 4 + Accuracy = 2 + Fluency = 2) 

7. ​(a) ​city life is comfortable  

(b) ​choked  

(c) ​pollute  

(d)​ crowded  

(e) ​have no leisure  

(f) ​are self centred 

8. a) ​has-been-opened 

b) ​in-the-United 

c) ​who-had-close 

d) ​it-the-first 

e) ​counselling-to-those 

f) ​believe-they-had 

9. a) ​Children’s Day celebration is a tribute to childhood. 

b) ​Children are the world’s most valuable resources and its best hope for the future. 

c) ​Different countries have their own way of celebrating Children’s Day. 

10. a) ​that she wanted to order 

b) ​when her birthday was 

c) ​that she could collect it/to collect it 

11. a) ​was 



b)​ must/ought to/should 

c) ​Neha, could you please shut the door? 

12. a) ​Granny’s Tree Climbing; Ruskin Bond 

b) ​unafraid/fearless 

c) ​for building a tree top house 

d) ​granny/grandmother 

OR 

a) ​My Mother; APJ Abdul Kalam 

b) ​Simile 

c) ​to distribute newspapers and reach temple school for studying 

13. a) ​Tommy 

b) ​Children from schools of past 

c)​ mechanical teacher 

d) ​Margie 

14. ​Appropriate response as per literature chapter to be marked. 

15. ​Appropriate response as per literature chapter to be marked. 
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क�ा आठवी ं


हदं
 ��तदश� ��न प� 

�थम स� 

�नधा��रत समय: 3 घंटे                                   अ#धकतम अकं : 80   

सामा$य �नद%श  

1. इस ��न प� के चार खंड ह*—'क,’ ‘ख’, ‘ग’ तथा ‘घ’ । 

2. सभी खंड अ�नवाय� ह*। 

3. ��न0 के सभी 1वभाग0 के उ3र 4मशः एक साथ 7ल9खए। 

4. उ3र पुि<तका म= उ3र के साथ वह
 4म सं>या 7ल9खए जो ��न प� म= द
 गई 

ह ै। 

खडं - ‘क’  
 

1. �न�न	ल�खत ग�यांश को पढ़कर �दए गए ��न� के उ�र 	ल�खए--- 

Cकसी भी DयिEत को अपने देश से �ेम होता ह ै। देश �ेम <वाभा1वक ह।ैिजस 

�कार DयिEत को अपने �नवास <थान से �ेम होता ह ैउसी �कार जीव-जतुं भी 

अपने �नवास <थान को भल
-भां�त पहचानते ह* और उस <थान से �ेम करते ह*। 

हम िजस देश म= रहते ह* , उसका हमारे ऊपर भार
 ऋण होता ह।ै हम देश कK 

जलवायु म= पलते ह*। देश कK 7मLट
 म= ह
 #गर कर तथा उठकर बड़े होते ह*। धरती 

मा ंके Oवारा 
दए गए अ$न से ह
 हमारा भरण-पोषण होता ह।ै िजस भूखंड पर 

हम चलते-Cफरते ह*, अपने 7लए घर0 का �नमा�ण करते ह* उसी देश के  र
�त-�रवाज0 

को �नभाना , 1व7भ$न धमS को सTमान कK UिVट से देखना तथा उन पर गव� 

करना देश�ेम ह।ै देश �ेम मानव म= �न
हत ऐसी भावना ह ैजो हम= अपनी मातभूृ7म 

के ��त कृतY बनाती ह ै।  

वसेै तो हर DयिEत म= अपने देश के ��त �ेम कK भावना Cकसी न Cकसी Zप म= 

मौजूद होती ह,ै पर हर DयिEत इसे ज़ा
हर नह
 ंकर पाता। हम= अपने देश �ेम कK 

भावना को अव�य उजागर करना चा
हए । इसी भावना से ओत-�ोत होकर 9खलाड़ी 

खेल के मदैान0 पर, और स�ैनक सीमा पर असाधारण �दश�न कर जाते ह* । देश 

�ेम के कारण ह
 Cकसी देश के �नवा7सय0 म= अपने देश के ��त ^Oधा कK भावना 

जागतृ होती ह।ै यह मानव को �नजी <वाथ� से ऊपर उठकर मातभूृ7म के 7लए कुछ 

करने के 7लए �े�रत करती ह ै। इसी भावना से अंगीभूत होकर लोग देश कK मया�दा 
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को कायम रखने हेतु अपने �ाण $योछावर करने म= त�नक भी 9झझक नह
 ंकरते 

ह* । अतः देश के हर  �नवासी को कुछ ऐसा करना चा
हए Cक हमारे देश के 

इ�तहास म= हमारा नाम सव�दा के 7लए अमर हो जाए और लोग  हमेशा हमारे 

योगदान कK सराहना कर=।  

 

(क) Cकसी भी �ाणी का <वाभा1वक गुण Eया ह ै? मनुVय और जीव जतुंओ ंका 

उदाहरण देकर बताइए ।                                             2 

(ख) देश का DयिEत 1वशषे पर Cकस �कार का ऋण होता ह ैतथा देश �ेम का सह
 

अथ� Eया ह?ै                                                       2 

(ग) देश �ेम कK भावना को उजागर करने के 7लए लोग Eया-Eया करते ह* ?       2  

(घ) देश के �नवासी को Eया करना चा
हए?                                   2 

(ङ) ‘जा
हर’ शeद का पया�य गOयांश म= से छांट कर 7ल9खए।                     1 

(च) गOयांश का उ#चत शीष�क 7ल9खए ।                                       1 

 

2. �न�न	ल�खत प�यांश को पढ़कर �दए गए ��न� के उ�र 	ल�खए- 

जब बहुत सबुह #चfड़यां उठकर, 

कुछ गीत खुशी के गाती ह* 

क7लयां दरवाज ेखोल- खोल, 

जब झुरमुट से मुसकाती ह* 

खुशबू कK लहर= जब घर से,  

बाहर आ दौड़ लगाती ह* 

हे जग के 7सरजनहार �भु! 

तब याद तुTहार
 आती ह।ै 

जब छम - छम बंूद= #गरती ह*, 

hबजल
 चम-चम कर जाती ह ै

मदैान0 म=, वन भाग0 म=, 

जब ह�रयाल
 लहराती ह ै

जब ठंडी- ठंडी हवा कह
ं से, 

म<ती ढोकर  लाती ह ै

हे जग के 7सरजनहार �भु ! 

तब याद तुTहार
 आती ह।ै 
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चुपचाप चमकते तार0 कK, 

महCफल जब रात सजाती ह ै

जब चांद शान से उगता ह ै

औ 
दशा-
दशा धुल  जाती ह ै

जब ओस Zप म= हर
 घास, 

चमकKले मोती पाती ह ै

हे जग के 7सरजनहार �भो! 

तब याद तुTहार
 आती ह।ै 

झरने जब झर- झर झरते ह*, 

न
दया ंम<ती म= बहती ह* 

जब देश - देश कK बात= 

सागर से जाकर कहती ह* 

जब उतर चांदनी ऊपर से  

सागर म= jवार उठाती ह ै 

हे जग के 7सरजनहार �भो ! 

तब याद तुTहार
 आती ह ै। 

 

(क) �ातःकाल �कृ�त म= Eया प�रवत�न आता ह?ै                             1 

(ख) क1व को Cकस कK याद Eय0 आती ह?ै                                 1  

(ग) �कृ�त म= ह�रयाल
 Eय0 छा जाती ह?ै                                   1 

(घ) शीतल पवन से Eया लाभ होता ह?ै                                     1 

(ङ) चमकKले मोती Cकसे कहा गया ह?ै                                      1  

 

खडं- ‘ख’ 
 

3. (क) �नTन7ल9खत शeद म= अनु<वार अथवा अनुना7सक का #चkन 

उ#चत <थान पर लगाइए—                                                                                ½  

 

आगन                                            

 

(ख) �नTन7ल9खत शeद म= उ#चत <थान पर नुEता लगाइए –                           ½  

    शराफत                                                    
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(ग) �नTन7ल9खत शeद म= ‘र’ के उ#चत Zप का �योग कKिजए—                     1 

     (1)  गाहक    (2) आशीवाद                        

4. (क) ‘सामािजक’ शeद म= से �nयय तथा मलू शeद अलग करके 7ल9खए--       1                 

(ख) ‘अध’ उपसग� का �योग करते हुए नया शeद बनाकर 7ल9खए—                 1 

(ग) ‘7मLट
’ शeद का तnसम Zप 7ल9खए—                       1                                                           

 

5. (क) ‘उपहार’ शeद के दो पया�यवाची शeद 7ल9खए--            1 

(ख) ‘आयात’ शeद का 1वलोम शeद 7ल9खए --                               1    

(ग) 
दए गए वाEयांश के 7लए एक शeद 7ल9खए—                  1 

     �णभर म= नVट होने वाला।                                       

6. (क) �न�न	ल�खत श%द का सं'ध )व+छेद क-िजए--                                        2 

     (1) देव1ष�    (2) भानूदय  

(ख) �न�न	ल�खत श%द क- सं'ध क-िजए –             1 

महा + उnसव                   

7. (क) �न�न	ल�खत सम2त पद� का )व3ह कर समास का नाम 	ल�खए—         2 

     (1) दोपहर               (2) अ$न –जल 

(ख) �न�न	ल�खत )व3ह का सम2त पद बनाकर समास का नाम 	ल�खए–     1 

      हाथ0 के 7लए कड़ी                                                                       

8. (क) �दए गए वा7य� को शु�ध कर पनुः 	ल�खए –                                   2 

(1) अनेक0 <�ी पुoष वहां आए थे। 

(2) कृपया हमार
 बात सुनने कK कृपा कर= 
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(ख) �दए गए वा7य� म: उ'चत )वराम-'च<ह लगाइए—                                1 

(1) हम केवल एक ह
 सवाल दागते आज भाभी जी का Eया हाल ह ै

9. ‘एड़ी चोट
 का जोर लगाना’ मुहावरे का वाEय म= �योग कKिजए ।            1 

10. ‘उपमा’ अथवा अ�तशयोिEत अलंकार का उदाहरण <पVट
करण के साथ 7ल9खए।            

2 

खडं – ग 

 

 11. �न�न	ल�खत दोह� को पढ़कर �दए गए ��न� के उ�र 	ल�खए – 

          �तनका कबहंु ना �न
ंदये , जो पायन तर होय । 

     कबहँु उड़ी आँ9खन पड़,े तो पीर घनेर
 होय ।। 

     hबगर
 बात बने नह
,ं लाख करो Cकन कोय । 

     र
हमन फाटे दधू को मथे न माखन होय ।। 

     सोहत ओढ़े पीत पट, �याम सलोने गात । 

     मनो नीलम�न सलै पर, आतप परयो �भात।।  

 

(क) छोटे से घास के �तनके कK �नदंा Eय0 नह
 ंकरनी चा
हए?               2 

(ख) लाख उपाय करने पर भी hबगड़ी बात नह
 ंबनती । उदाहरण Oवारा <पVट 

कKिजए ।                                                   2 

(ग) ^ी कृVण के �यामल शर
र पर पीले रंग के व<� कैसे लगते ह* ?        1 

 

12. �न�न	ल�खत ग�यांश को पढ़कर �दए गए ��न� के उ�र 	ल�खए – 

गांधी जी यह भी चाहते थे Cक सब चीज= जो काम म= लाई जाएं, वे <वदेशी ह0। 

एक बार उ$ह0ने आ^म म= कृVण चंt से कहा Cक बढ़ई के सब औजार ले आओ। 

वह बाजार से खर
द कर ले आए । गांधी जी ने कहा , “यह तो 1वदेश के बने हुए 

ह*। यह सब तभी म* काम म= लाउंगा ; जब वे <वदेश म= बने हुए ह0।” इसी कारण 

7सला हुआ कपड़ा पहनना उ$ह0ने छोड़ 
दया था, चंूCक तब ‘सुई’ भी 
हदं<ुतान म= 

नह
ं बनती थी, न 7सलाई कK मशीन न क* ची । उ$ह0ने पुराने ढंग कK धोती और 

चादर, hबना 7सला हुआ कपड़ा पहनना ह
 जीवन के अं�तम कई दशक0 म= अपना 

पहनावा बना 7लया था । 
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(क) गाँधीजी Cकस �कार कK चीज0 का उपयोग करना चाहते थे?       1 

(ख) गाँधीजी ने औज़ार0 का �योग Eय0 नह
ं Cकया?         1 

(ग) वे 7सले कपड़ ेEय0 नह
ं पहनते थे?           1 

(घ) गOयांश के पाठ का नाम 7ल9खए।          1 

 

13. �न�न	ल�खत ��न� म: से >क<ह? चार ��न� के सं@ABत उ�र 25-30 श%द� म: 

	ल�खए—                                                                                                            2 × 4 = 8 

 

(क) गमv का सड़क0 और व�ृ0 पर Eया �भाव पड़ता ह?ै  

(ख) पड़ोसी को Cकन व<तओंु को दान करने म= संकोच नह
 ंहोता था?  

(ग) दारा कK बOु#धमानी के बारे म= लोग Eया-Eया बात= करते थ?े  

(घ) ^ी राम राज ूकK बात0 का आ
दवा7सय0 पर Eया �भाव पड़ा? 

(ङ) भोलाराम कK Eया गलती थी? उसके शुभ#चतंक0 ने उसे Eया समझाया?  

 

14. �न�न	ल�खत ��न� म: से >क<ह? तीन ��न� के उ�र 50 - 60 श%द� म: 	ल�खए-                      

3 × 3 = 9 

 

(क) ‘हम पंछw उ$मुEत गगन के’ आधार पर बताइए Cक पx�य0 को सखु का 

आभास कब-कब होता ह?ै  

(ख) कyपना चावला के गुण0 का उyलेख करते हुए बताइए Cक उसकK सोच 

अ$य लड़Cकय0 से Cकस �कार 7भ$न थी? 

(ग) गांधी जी अपनी कुट
 म= आने वाले सभी अ�त#थय0 कK सु1वधा का zयान 

रखते थे। उदाहरण स
हत <पVट कKिजए। 

(घ) पाठ का शीष�क ‘असल धन’ Eय0 रखा गया? इस पाठ का कोई अ$य 

शीष�क 7ल9खए तथा यह भी बताइए Cक आपने यह शीष�क Eय0 चुना?  

 

15. बातचीत कK कला म= सफलता �ा{त करने के 7लए Cकसका योगदान अपेx�त 

ह?ै बातचीत करते हुए मनुVय को Cकन बात0 का zयान रखना चा
हए?        4 
 

अथवा 

‘जब भोलाराम ने पंप लगाया’ पाठ के माzयम से लेखक ने सरकार
 अ#धका�रय0 

और उनकK काय��णाल
 कK Cकस स|चाई को उजागर Cकया ह?ै 
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खडं – घ 

16. �न�न	ल�खत म: से >कसी एक )वषय पर लगभग 80 से 100 श%द� म: 

अनु+छेद 	ल�खए ---                                                                                     5 

 

(क) य
द म* स�ैनक होता 

(ख) समय बहुत कKमती 

(ग) <वा<}य और Dयायाम 

 

17. छा�ावास म= रहने वाले अपने छोटे भाई को मन लगाकर अzययन करने कK 

सलाह देत ेहुए प� 7ल9खए ।                                         5 

अथवा 

पु<तकालय म= समय पर पु<तक न लौटाने के कारण आप पर ₹200 का शुyक 

लगाया गया ह।ै जुमा�ना माफ Cकए जाने हेतु अपनी �धानाचाय� को प� 7ल9खए। 
 

18. आपका नाम मनीष /मनीषा गग� ह ै। आप आठवीं ‘ए’ के छा� /छा�ा ह*। आपकK 

घड़ी 1वOयालय प�रसर म= #गर गई ह।ै उसे लौटाने के 7लए �नवेदन करते हुए 

सूचना 7ल9खए ।                                                                                            5 

 

 

 

 

 

 



Class 8 (2019-20)
Sample paper  Mathematics  Term 1

Time 3 Hours                                                                                     M.M. 80
General Instructions:

1. This paper has 4 sections.
2. Section A has questions 1-6 carrying 1 mark each.
3. Section-B has questions 7-12 carrying  2 marks each.
4. Section C has questions 13-22 carrying 3 marks each.
5. Section D has questions 23-30 carrying  4 marks each.
6. All questions are compulsory.
7. There is no overall choice. However some internal choices have been

given in two questions of 1 mark, two questions of 2 marks, four
questions of 3 marks and three questions of 4 marks.

Section A

1. Find the value of√0.0009
Or

Find the number of non-square numbers lying between 402 and 412 .

2. What is x: SP = × (100 )
100

3. Solve using suitable identity: (x +4) (x +5)
Or

Find ‘x’ if 1632 -1622 =65x
4. If AB ll CP find the value of ‘y’. Give reason.

5. Divide: 5x3 by √5 2
6. Total surface area of a cylinder of radius ‘r’ and height ‘h’  is  ___________.

Section B

7.  Factorise : 1 - 6 z + 9z2

8.  Simplify : 1728 × (−216)3

9.  Write the given polynomial in standard form and also write the degree of
the polynomial:

(a2 -1
4

) (a2 +1
4

)

10. If the vertices O,A,B of a square OABC are (0,0) , (2,0) and (2,2) what are
the coordinates of the fourth vertex C of the square?

11.  Anil buys a pair of Nike shoes for ₹ 6000 and GST charged on it is 7% find
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the amount that Anil pays for the shoes.
Or

By selling 150 hens,Raghav lost the S.P. of 10 hens . Find his Loss percent.

12. The number 351 is divided into two parts in the ratio 2:1.  Find the parts.
Or

The sum of two consecutive positive integers is 205 .  Find the numbers.

Section C

13.  In the figure ABC is a triangle and AD is an altitude.

Show that :
a. BP ll AD
b. CQ ll AD
c. BP ll CQ

14.  Divide −63 + 44 + 15 − 8 + 22 by 2x.  Also write the quotient and the
remainder.

15.  Find the cube root of 112572 by estimation.
Or

The total surface area of cube is 1176 cm2 . Find its Volume .

16. The radii of two cylinders are in the ratio 2:3 and their heights are in the ratio
5: 3 calculate the ratio of their curved surface areas

Or
Three numbers are in the ratio 2:3:4 the sum of their cubes is 33957 find the
numbers.
17. Find the square root of of 2.2 correct upto 2 decimal places.

18. Solve : 7
5 1

= 3

19. A streamer goes downstream from one point to another in 8 hours and covers
the same distance upstream in 9 hours. If the speed of stream is  2 kilometres per
hour, find the speed of the steamer in still water.
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20. The profit earned by selling an article for ₹ 900 is double the loss incurred
when the same article is sold for ₹ 450. At what price should the article be sold to
make 25% profit?

Or
How much percent above the cost price should the shopkeeper marked his goods

so that after allowing a discount of 20% on the marked price he gains 12%?

21. If a + b + c = 12 and a2 + b2 + c2 = 64 . Find the value of ab + bc + ca .
Or

Factorise : 9(a+b)2-12(a2 -b2) +4(a-b)2

22. Find the value of √47089 + √24336
Section D

23. The residents in a society donated ₹ 5,22,729 for Kerala flood relief fund.
Each resident donated as many rupees as the number of residents in the society.
Find the number of residents in the society.

Or
The cost of levelling a square lawn at ₹ ₹15 per square metre is  18375. Find the
side of square lawn.

24. The length of a rectangle is greater than the breadth by 15 cm. If length is
increased by 5 cm and breadth is increased by 5 cm, the area increases by 150
square cm find length and breadth of the rectangle.

25. 15 cylindrical pillars of a building are to be painted and the diameter and
height of each pillar is 48 cm and 7 m respectively. Find the cost of painting if the

rate of painting the is ₹12 per square metre.(Use π =22
7

)

Or
Three cubes of sides 4cm are fixed together . Find the total surface area of the

new solid formed.
26. A shopkeeper allows 25% discount on the marked price of a speaker and still

makes a profit of 20% if he gains ₹ 225 over the sale of one speaker find the
marked price of the speaker.

27. Draw a line segment AB of length 10 cm. Divide it into 5 equal parts.
Or

Draw a line segment EF = 6cm. Find the point G on it such that EG =2
3
GF . Also

measure EG and GF.

28. If a+1 =17
4

, find the value of a-1



29. Find the area of trapezium whose parallel sides are 25cm ,13cm and the other
two sides are 15 cm each.

30. Draw a line  graph for the following:

Time (in h) 7:00 8:00 9:00 10.00

Distance (in
km)

60 120 180 240

From the graph, find:
a. The distance covered by the car during the period 7:00 to 8:00.
b. At what time the car would have covered 30 Kilometres?



                                                     SCIENCE AND TECHNOLOGY  
                                                         Class VIII    Sample Paper 
                                                               Term 1 ( 2019-20) 
 
Time : 3 hours                                                                                                     Max Marks: 80 
 
General instructions : 

1.  This question paper has 27 questions in all.  All questions are compulsory 
2.  There is no overall choice.  However, internal choices have  been provided in any three  

  questions of 2 marks each,  any three questions of 3 marks each and any three  
              questions of 5 marks each.  
      3.     The question paper has 4 sections: Sections A, B, C  and D respectively.  

● Section A has three questions ( Q.No. 1 to Q.No. 3)  that are very short answer type and 
carry 1 mark each 

● Section B has 7 questions( Q. No. 4 to Q.No. 10)  that are short answer type I and carry 
2 marks each 

● Section C has 11 questions ( Q. No. 11 to Q. No. 21)  that are short answer type II  and 
carry 3 marks each 

● Section D has 6 questions ( Q. No. 22 to Q. No. 27) that are long answer type and carry 
5 marks each 

 
                                                              Section A  
 
Q1)  Which properties of chromium metal make it suitable for electroplating  on car bumpers, 
bath taps and bicycle handlebars made of iron?  ( any two)                                                       1 
 
Q2). A crop which is grown by transplantation is 
      a. Barley               b.Wheat                c.Groundnut              d. Paddy.                                   1 
 
Q3). Name the microorganism which can be crystallized and stored in jars  for years.               1 
 
 
                                                                 Section B 
 
Q4)  A student had heard that rain water is as good as distilled water.  So he collected some 
rain water in a clean glass beaker and tested it.  To his surprise, he found that the compass 
needle showed deflection. What could be the reason?                                                                2 
                                                    or 
       Which of the two is a better conductor of electricity-  drinking water or sea water?  Give  
reason for your answer                                                                                                                 2 
 
 
 



Q5)   Which properties of liquid pressure are depicted by the following figures ?                    2 
 (i) 

   
 
(ii)  
 
 

 
 
 
 
 
Q6) State any two precautions that can help in minimising the damages due to an earthquake. 2 
                                                     or 
     ‘ All the buildings in seismic zones need to be designed simple’.   Why?                                2  
 
Q7) Which is the best form of  coal ?  Why is it so called?                                                            2 
 
Q8) The biggest threat to the existence and survival of wild animals and birds is deforestation. 
write two consequences of deforestation.                                                                                     2 
 
 
Q9) Use of CFCs is a major threat to the environment.  Comment                                               2 
 



Q10)  Although wood has a very high calorific value,  we still discourage its use as a fuel. Why?  
                                                                                                                                                       2 
                                                      Or 
 
           Do all the substances catch fire at the same temperature?  Justify your answer               2 
 
  
                                                                   Section C 
 
Q11)Describe an activity to show , how to estimate  atmospheric pressure with the help of an air 
sucker                                                                                                                                            3 
 
Q12) State any three applications where we are intentionally decreasing pressure of a given 
force through an increase in the surface area.                                                                              3 
 
Q13) (i) Name one solid and one liquid lubricant  
        (ii) While going to the office, Sumit’s father,  on noticing the worn out tyres of his motorbike, 
advised him to replace the old tyres with new ones, as early as possible. Why did Sumit’s father 
advise him to do so?                                                                                                             1+2=3 
                                                      Or 
 
        Why are  aeroplanes streamlined?  Where do you find streamlined shapes in nature? (two  
        examples)                                                                                                                             3 
 
Q14) With the help of a labelled diagram,  describe briefly how an iron key can be electroplated 
with copper.                                                                                                                                  3 
                                                    Or 
          Describe an experiment to show that we can get electrical energy by using a magnet.    3 
 
Q15) State the three conditions that help in getting a smooth and firm deposit during 
electroplating                                                                                                                                3 
 
Q16)  

          
Write your observations in all the cases a, b  and c above                                                            3 



 
Q17) How does petroleum occur in nature ?                                                                               3 
 
Q18). Farmers in Northern India grow a leguminous crop between two successive cereal crops 

a. What is this practice called? 
b. Why only leguminous plants are selected for this practice?                                          1+2 

 
Q19) .a Define bioaugmentation 
      b. Name the biological nitrogen fixer which fixes atmospheric nitrogen in rice fields. 
      c. Name the organism which fixes atmospheric nitrogen in the roots of leguminous plants 
      d. Name any one disease caused by virus in monkey and cattle.                            1+½+½+1 
 
 
                                                            Or 
 

a. What are antibiotics? 
b. What is a vaccine and how does it work? 

What are the two ways of administering vaccine?                                                         1+2 
 
 
Q 20) Automobiles are a major source of air pollution. Suggest any three methods to control air 
pollution from automobiles .                                                                                                          3 
 
Q 21) Which scale is used to measure the intensity of an earthquake in terms of its magnitude? 
Write its two characteristics                                                                                                           3 
  
 
                                                                        Section D 
 
Q22) (i) No one is allowed to take any burning material near a petrol station.  Give reason. 
         (ii) Why gaseous fuels are considered the best? ( any four points)                                      5 
 
                                                    Or  
         (i) Differentiate between Rapid and Slow combustion.  Give one example of each.  
         (ii)  Enlist any two outcomes of incomplete combustion.                                                      5 
 
Q23) What do you mean by destructive distillation of coal?  Name any two products obtained 
through this.  Write one use of each of these                                                                                5 
 
Q24) a.When is the International Day for biodiversity observed every year? 
         b. Why do we need to conserve biodiversity? 
         c. Biosphere reserve conserve 
           i) wildlife      ii) traditional tribal life     iii) forest resource      iv)all of the above 



       d. What is scrap paper 
       e Biosphere Reserves are formed under the program MAB  by UNESCO. Write the full form 
           of MAB.                                                                                                                               5 
 
                   Or 
 

a. Why is wildlife sanctuary called a wildlife refuge? 
Name two Biosphere Reserves of India 

b. State the differences between flora and fauna 
c. How does introduced species have an impact on endemic species?                               5 

 
Q25). Name the following 

a. Method of prevention of 
i) Tuberculosis ii)ringworm 

       b. Mode of transmission of 
           i) influenza  ii)rabies 
       c. Disease caused by 
           i) Bacteria in cattle ii) virus in humans 
       d . Disease-causing rice Grains  to become greenish black 
       e. Causative organism of 
           I)citrus canker.     ii) red rot of sugarcane.                                                                         5 
 
Q26). a.Why are harvested food grains Sun dried before storage? 
       b. What is winnowing? 
       c. How is large scale storage of fruits and vegetables done? 
       d. Write the names of implements used for         a.ploughing. b. crushing the crumbs 
       e.Define emasculation. 
 
  
 
Q27) (i)  Give two examples each to show that friction is both a friend and a foe. 
         (ii)   Give reasons: 

a)  It is easier to push a lighter box than a similar heavy box on the same floor.  
b)  Ball bearings are used in machines                                                                                  5  

 
                                                   Or 
     a) Define friction 
     b) What is the main cause of friction?  
     c) Define limiting force of friction  
     d) Why is sliding friction little less than static friction? 
     e) Suggest a method to increase friction.                                                                                 5 
 
 



 
 
 
 
 
 
 



CLASS VIII

SOCIAL SCIENCE

TERM-I

Time: 3 Hrs                                                                                         Maximum Marks: 80

General Instructions:

1. There are 28 questions in all.
2. Marks for each question are indicated against it.
3. All questions are compulsory.
4. Question number 1 to 9 are very short answer questions of 1 mark each.
5. Question from serial number 10 to 19 is of 3 marks. Answer of these should not

exceed 80 words.
6. Question from serial number 20 to 26 is of 5 marks. Answer of these should not

exceed 120 words each.
7. Question number 27 and 28 are map questions of 3 marks each from Geography

and History. After completion, attach the maps inside your answer book.

1. According to scientific norms, what percentage of area of the world should be
underforest to maintain ecological balance?
1

2. Define a National Park.                                                                                             1

3. Name the author of the book “My Experiments with the Truth.”                             1

4. In which language was the newspaper ‘Kesari’ published?                                     1

5. Name the system under which the revenue was directly collected from the cultivator? 1

6. Mention any Two provisions under Right to Equality. 1/2+1/2=1

7. Who occupies the most important position in the Parliamentary form of government. 1

8. What is Collective Responsibility? 1

9. Name the Two types of executives under Parliamentary form of government in India.

1/2+1/2=1

10. Explain the concept of Sustainable Development. Suggest any Two ways of
achieving the objective of Sustainable development.                                               1+2=3

11. Mention any Three factors on which the utilization of resources depend.             3



12. Compare the important features of Tropical Evergreen Forest with that of Tropical
Deciduous Forest. 3

OR

How are the trees of Mediterranean forest able to retain moisture during dry summer
season?

13. “Deforestation in a rampant manner has depleted forest resources.” Suggest any
Three measures to conserve them.                                                                                  3

14. Describe the impact of British policies on the life of Tribals in India.                      3

15. Enlist the important features of Zamindari System introduced by Lord Cornwallis in
Bengal. 3

16. Explain the procedure of amending the Indian Constitution.                                   3

17. “The Directive Principles of State Policy are guidelines given by the Constitution.”
List any Three of them. 3

18. Distinguish between Union List and the State List.                                                  3

19. Describe the Composition of RajyaSabha, the council of States. 3

20. “Water is an indispensable resource.” Suggest any five ways to save this precious
resource. 5

21. Why have large dams come under lot of criticism by the environmentalists?  Give any
five valid points. 5

22. Expalin any five events and consequences of Third Carnatic War.                    2+3=5

OR

Describe the causes and consequences of Anglo-Sikh War.

23. Describe the steps taken by the British to suppress the revolt.                                    5

24. Mention the main causes of discontentment among the Indian Soldiers in the British
army. 5

25. Enumerate the purposes which the Indian Constitution serves.                                 5

OR

Explain any five features of Indian Parliamentary form of government.



26. “The President is an integral part of Indian Parliament.” Justify the statement with
reference to legislative powers of the President. 5

27. (1) Two features A and B are shown in the political map of the world.                  3

Identify these features with the help of following information and write their correct
names on the line marked on the map.

(A) A region of high rainfall area of Africa

(B) A type of forest

(2) On the same political map of the world, locate and label the following items with
appropriate symbols.

(C) One region of Temperate Softwood Forest in Europe.



28. (1) two features A and B are shown in the political map of India. Identify these
features with the help of following information and write their correct names on the line
marked on the map.

(A) A place from where sepoys broke out in an open revolt.

(B) The place from where Rani Lakshmi Bai led the revolt of 1857

(2) On the same political map of India, locate and label the following place:

(C) Chhatisgarh- a present state of India to which Mundas belong.



आदश नप ं थम स (2019-20 ) वषय-सं कृत
समय होरा यम ् क ा अ टमी अ धकतम अकं 80
नदशा:  (i) नप े च वार:ख डा: सि त :-
ख ड (क) अप ठत अवबोधनम ् 10 अकंा:
ख ड (ख) रचना मककायम ् 10अकंा:
ख ड (ग) अनु यु त याकरणम ् 30 अकंा:
ख ड (घ) प ठत अवबोधनम ् 30 अकंा:
(ii) तख डम ्उ तरा ण पथृक् द तायाम उ तरपुि तकारतयां लेखनीया न |
(iii) येकं ख डम ्अ धकृ य उ तरा ण एकि मन ् थाने मेण लेखनीया न |
(iv) नप े उ तरा ण न लेखनीया न |
(v) नसं या नप ानुसारं लेखनीया न |

खडं: क (अप ठत अवबोधनम)् (10अकं)

न 1 न न ग यांशम ् प ठ वा नानाम ् उतरत –

भ◌ारतवषः कृ◌ृ ष धानःदेशः |अ अनेके जनाः ामेषु नवसि त |कृषकाः कृ षकायम ् कुवि त

अ ना न च उ पादयि त ।अ नं वना कुतः जीवनम?् कृ षकायम ् वना च कथम ् अ नानाम ्

उ पादनम ् भवेत?् अतः ामाणाम ् कृषकाणाम ् च मह तवम।् के चत ् ामीणाः वे- वे गहेृ

ि ध वा काया ण कुवि त। यथा लौहकाराः लौहकायम ् कुवि त, कु भकाराः घटान ् रचयि त,

त काः का ठेन म चकान ् , फलकान ् आसि दका च रचयि त। अनेकेषु ामेषु व युत- सु वधा

न अि त। जल य आभावे कृ षः अ प इ टं फलं न ददा त। व तुतः ा य-जीवनम ् अ त

क ठनम।् परः ामीणाः अ पेन एव स तु टाः भवि त।

एकपदेन उ तरत ।



● के अ ना न उ पादयि त?

● भारतवषः क शाः देशः?

● कः घटान ् रचय त?

● जलाभावे कृ इ टं फलं न ददा त

पूणवा येन उ तरत ।

● त काः कम ् कुवि त ?

● लौहकाराः कम ् कुवि त?

ग यांश य उ चतं शीषकम ् लखत ।

नदशानुसारम ् उ तरत -

(क)‘य छ त’ इ त पद य समानाथकम ् पदं कम?्

(1)अि त, (2) ददा त (3) क ठनम ्

(ख)”जलानाम ् अभावे कृ षः अ प इ टं फलं न ददा त”इ त वा ये कतपृदम ् कम ् ?

(1) जलानाम ् (2) कृ ष: (3) इ टम ्

(ग)’व तुतः ा य-जीवनम ् अ त क ठनम’्अ वशषेणपदम ् कम ् ?

(1) व तुतः (2) जीवनम ् (3) क ठनम ्

(घ)’असु वधा’ इ त पद य कः वपययः ग यांशे यु तम?्

(1) ि थ वा (2) वना (3) सु वधा

ख ड ख रचना मकं -कायम ्(10अकं)

2 भवान ् मंयकः। व ज म दवससमारोहे आम यतुं व म ं त ल खतम ् इदं प ं म जूषायां

द तैः उ चतपदैः पूर य वा पुनः लखत- (१/२*१०=५)

पर ाभवनात ्



मु बई

दनांक______

य म म ्

अ कुशलं(i)________|ह षत वरेण(ii)________सूचया म यत ् 2-7-19 तमे(iii)_______ मम

गहेृ(iv)_______उपल ये समारोह य(v)_________भ व य त |अि मन(्vi)________तव

उपि थ त(vii)________|शोभां(viii)________भवान ् |तव(ix)________ चरणेषु मम णामा:|

भवान(्x)_________

मयंक:

दना के,अवसरे,त ा तु,अ भ न म म ् ,ज म दवस य,अहम,् प ो:,आयोजनम,्अ नवाया,वधयतु

3 अध: द तं च ं वा द तपदानां

सहायतया सं कृतेन प चवा या न लखत-

(1*5=5)

सूय:,मेघा:,पवता:,जलम,्सरोवर:,पादपाः,उदय त,कलश:,नम त,ना रकेलम,्बालक:

4 रेखां कत - पदानाम ्सं धम ् सं ध - व छेदम ्वा कु त - (१ *४ =४ )

मु बई

दनांक______

य म म ्

अ कुशलं(i)________|ह षत वरेण(ii)________सूचया म यत ् 2-7-19 तमे(iii)_______ मम

गहेृ(iv)_______उपल ये समारोह य(v)_________भ व य त |अि मन(्vi)________तव

उपि थ त(vii)________|शोभां(viii)________भवान ् |तव(ix)________ चरणेषु मम णामा:|

भवान(्x)_________

मयंक:

दना के,अवसरे,त ा तु,अ भ न म म ् ,ज म दवस य,अहम,् प ो:,आयोजनम,्अ नवाया,वधयतु

3 अध: द तं च ं वा द तपदानां

सहायतया सं कृतेन प चवा या न लखत-

(1*5=5)

सूय:,मेघा:,पवता:,जलम,्सरोवर:,पादपाः,उदय त,कलश:,नम त,ना रकेलम,्बालक:

4 रेखां कत - पदानाम ्सं धम ् सं ध - व छेदम ्वा कु त - (१ *४ =४ )

मु बई

दनांक______

य म म ्

अ कुशलं(i)________|ह षत वरेण(ii)________सूचया म यत ् 2-7-19 तमे(iii)_______ मम

गहेृ(iv)_______उपल ये समारोह य(v)_________भ व य त |अि मन(्vi)________तव

उपि थ त(vii)________|शोभां(viii)________भवान ् |तव(ix)________ चरणेषु मम णामा:|

भवान(्x)_________

मयंक:

दना के,अवसरे,त ा तु,अ भ न म म ् ,ज म दवस य,अहम,् प ो:,आयोजनम,्अ नवाया,वधयतु

3 अध: द तं च ं वा द तपदानां

सहायतया सं कृतेन प चवा या न लखत-

(1*5=5)

सूय:,मेघा:,पवता:,जलम,्सरोवर:,पादपाः,उदय त,कलश:,नम त,ना रकेलम,्बालक:

4 रेखां कत - पदानाम ्सं धम ् सं ध - व छेदम ्वा कु त - (१ *४ =४ )



● धनाथ अ आग यधनं याचते |

● एते क व+ई वरा: सि त |

● वं अ यथे छं त ठ |

● जल+आगमे खगा: स ना: भवि त |

5 उ चतं श द पं च वा वा येषु र त थाना न पूरय तु – (१ *४ =४ )

● कौश या ________ माता आसीत ्|(राम:/राम य/रामाणाम)्

● एता न ________मधरुा ण रसयु ता न च सि त |(फलम ्/फले/फला न)

● बालका:_______ नानं कुवि त |(नद /न याम/्न या:)

● _________बा लका: ग छि त | (त/ेता:/ता न )

6 अधो ल खते को ठके तसं यां सं कृतेन लखत- (१ *४ =४ )

● ________ म े देवालयं ग छतः|(2)

● अ _______अ यापका: सभागारे त ठि त |(33)

● सं कृत- नप े ________ ना: भवि त |(18)

● मम अनु मांक _________ अि त |(49)

7 उ चतं अ ययपदं च वा र त थाना न पूरय तु –(१*४=४)

कुत:,अलम ् ,इत तत:,सव

● _______ च तया |

● द ल नगरे _________ दषूणं यते |

● तव ाता _________ आग छ त ?



● ा ता: बालका:_________ मि त |

8 रेखां कतपदेषु वभि तं त कारणं च लखत- (१*४=४)

● वयं म :ै सह उ याने ड याम: |

● अ भन दनं प रत: सव सै नका: अ प आसन ् |

● वि त यु म यम ् |

● मम मातामह कणा याम ् ब धरा अि त |

9 उ चतधातु पैः र त थाना न पूर य वा वा या न पुनः लखत - (१*४=४)

● यूयं भोजनालये कमथम_्_________ ?(अग छ:,अग छत,्अग छत)

● अधनुा ते चल च म ् _________ |( या म, यि त, यथ:)

● वयं ात:ई वरम ् __________ |( मरि त, मराव:, मराम:)

● क ायां छा ा: तू णीम_्________ |( त ठ त,ु त ठत, त ठ)

10 न न ल खतान ् कृ त ययान ् संयो य/पथृक् कृ वा लखत- (१*३=३)

● सीमा दु धं( +तुमुन)् __________ ग छ त |

● ते सव उ याने( ड वा)_________ अधनुा पठि त |

● अ यापक: श यान(् नर+्ई + यप)् ___________ ग छ स |

11 को ठके तं उपसग संयो य/पथृक् कृ वा लखत - (१*३=३)

● म हला: कूपात ् जलम ् _________ |(आ+नयि त)

● वानरा: जनान ् _______+_________(अनुकुवि त ) |

● ई वर: सवम ् ______+______ |(अवग छ त)

खडं घ (प ठत-अवबोधनम)् (30)

12 अधो ल खतं अनु छेदं प ठ वा नान ्उतरत – (५ )



एकदा मह ष: काशीनगरे ग गाया: तटे एकि मन ्कुट रे श यै: सह अ त ठत।्त समीपम ्एक: या ी अ प

अ त ठत।् ई यया स:या ी महष: कुट रम ्आग यअकारणम ्एव मह ष दवुचना न वद त म |िजतेि यः

मह ष: सव ु वा शा त च तेन एव त ठ त म |स: कदा प न युतरत ्| श या: ु ा: अभवन ्|मह ष:

तान ्‘ च तां मा कु त ,तू णीम ्भवत’ इ त अकथयत ्|

(1)एकपदेन उतरत – ( १/२*२ =१)

● मह ष: दयान द: क श: आसीत ्?

● ु ा: के अभवन ्?

(2) पूणवा येन उतरत – (१*२ =२ )

● ई यया या ी कं करो त म ?

● मह ष: दयान द: कु अ त ठत ्?

(3) नदशानुसार उतरत - (१ *२=२)

● “एक: या ी अ प अ त ठत ् ' अ कं यापदम ् ?

(i) या ी (ii) अ त ठत ्(iii) अ प

● ‘ च तां मा कु त‘ अ अ ययपदं कम ्?

(i) च तां (ii) मा (iii) कु त

13 न न लोकं प ठ वा नानाम ्उतरत – (5)

जा यं धयो हर त सचं त वा च स य,ंमानो न तं दश त पापमपाकरो त |

चतेः सादय त द ु तनो त क त,स संग तः कथय कं न करो त पुंसाम ्||

एकपदेन उतरत –



● का पापम ्अपाकरो त ?
● स संग तः धयः कं हर त ?

पूणवा येन उतरत –

● स संग तः वा याम ् कं सचं त ?
● स संग तः कं करो त ?

नदशानुसार उतरत -

● ‘दरू करो त’ इ यथ कं पयायपदम ् यु तम?्
●
● “तनो त ” इ त यापद य कृते कतपृदम ् कं यु तम?्

(i)जा यं (ii) स संग तः (iii) क तम ्

14 न न ल खतं संवादं प ठ वा नान ्उ तरत - (5)

(अ यापक:क ां वश त|)

सव छा ा:- (उ थाय) हे आचाय !सं कृत दवसे वयं भव त: वधापयाम:|

आचाय: - ध यवादा: | वि त यु म यम|्शुभं भवतु सं कृत दवस: यु म यं सव य:|

णव: -आचाय|अ य अ मा भः सं कृत- वषये एका नो तर आयोिजता अि त |

सुमेधा - स पूणा क ा वयोः वगयो: वभ ता अि त |एक: का लदासवग: अपर: च भासवग: अि त |

णव: -एक य न य उ तरं का लदासवग: दा य त |अपरं नं च भासवग: उ त र य त |

आचाय: -शोभनम ्| अतीव सुंदरम ्आयोजनं कृतम ्|अधनुा ार भं कुव तु |

1 एकपदेन उतरत – ( १/२*२ =१)

क . क: क ां वश त ?

ख . सं कृत- वषये का आयोिजता अि त ?

(2) पूणवा येन उतरत – (२*१ =२ )

क . स पूणा क ा क त वगषु वभ ता अि त ?



ख . नानाम ्उ तरा ण क: क: दा य त ?

(3) नदशानुसारं उतरत - (१/२*४=२)

क “अतीव सुंदरम ्आयोजनं कृतम”्अ वशषेण पदं कम ्? ( अतीव/आयोजनं/कृतम)

ख “ वि त यु म यम ्” ?यु म यम’् इ त पदे का वभि त:(प चमी /चतुथ / वतीया )

15 अधो ल खतौ लोकौ प ठ वा उ चतपदै: भावाथ पूरयत- (१/२*८=४)

(क) आल यं ह मनु याणां शर र यो महान ् रपु:|

भावाथ: अ माकं श ु: अ माकं(i)__________ एवअि त| एष:(ii)__________

क:?आल यं(iii)__________एव व तुतः अ माकं श :ु अि त |अत: आल यं (iv)________कु त |

श :ु ,मा , शर रे ,आल यम ्

(ख) व या ददा त वनयम ्|

भावाथ: व या अथात ्(i)_____________ मनु याय (ii)____________ य छ त

|जना:(iii)_________न तां ा नुवि त अत: (iv) ___________ ा य अ भमानं मा कु त |

व यां , ानं , व यया , वन ताम ्

16 न न रेखां कतपदेषु न - नमाणं कृ वा पूणवा यं लखत - (१*४=४)

1. े ठा: मानम ् इ छि त |

2. ा णजीवनाय वशु ं पयावरणम ् आव यकम ् अि त |

3. माता बा लकां कथय त |

4. छा ा: सं कृत दवस य आयोजनं कृतव त:|



17 अधो ल खतं लोकं प ठ वा उ चतपदै: अ वयं पूरयत- (१*४=४)

न द तु नी त नपुणा: य द वा तुव तु ,

ल मी: समा वशतु ग छतु वा यथे टम ्|

अ यैव वा मरणम तु युगा तरे वा ,

याया पथ: वचलि त पदं न धीरा: |

अ वय: नी त नपुणा: य द (i)_________ तुव तु वा,ल मी: समा वशतु , यथे टम ्वा

(ii)__________ ,मरणम ्अ यैवअ तु(iii)________वा,धीरा: यायात(्iv)_________पदं न वचलि त

18 अधो ल खता न पदानाम ् उ चताथ:सह मेलनं कुव तु लख तु च - (१/२*६ =३ )

● धीराः ने म ्

● स त: म त:

● सागरम ् व याता

● स ा: समु म ्

● बु : स जन:

● लोचनम ् धयैव त:
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